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1. Fillin the blanks :
a. Sums invohnng_}’\ oW

bracket are to be solved first.

b. These () brackets are callede}[ eni f M2 or common bracket.
C. INBODMAS “Mm* standsfor_m_u_ttLPJ.Lﬂim

d. We remove the 417_”::1&

bracket last while simplifying.

is the last operation to be solved.

e. While simplifying, _&1hedrra st an

2. Simplify :
a. 76+4+8-3x2
ans?[Q48-3 X 2
- IX L
=Y X ~.L{5‘7

b. 54+-9x6-4+3+8

/_ s ; ..; " ‘, (“

Ans: - T L R
;té—tf~'342’
1 +3 48

-35+Q
=943

3. Simplify the following
a. 12-[20+{8-2(9-5-2)}]

ans, 12— [20 -5{%—2(2)}]
12 =20+ §8 = u}]

= f2_"£20'.1 ﬂ
=lL-5
= 3
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b. zs-%{s+4-(3+2-1_+3)}

Ans= 2.5 '-—é-% 5""‘" o (3‘” Q— e L")j{

26 -1 {E4Y-1
15 & :
=25-1L f a1y =25-Lx B

f
o

c. 0.4+[1.5+{0.6+(0.3-03-0.1)}

ans=0 41,5 5064 (0.3 - 0. 2.)}J
=oM+fus {062 0.1} ]
0.4+ [543 6}
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